N R o e L

-~ EH

1. ( )%x —5x+4=@x—a)x—b)> ' a>b> [ 2a+b="?
(A) 6 B (©)—9 (D)

<<T'V5i>> D

2. ( 8 =0 [ x=?
(A)—8F5 0 (B)8 Y 0
(CAF0 (D)4 0

<<FAT3¥>> A

3.0 ) MG )@+ 3)=6 Sl [~ - i G 2
(A)2x —5x—18=0 (B)2x —11x—18=0
(C)2¢—5x+6=0 (D)2 11x—6=0

<<FAT3¥’>> A

4. () HHEFQ@x+3)(Bx—1)=0 [y HEEAFHIEHT 2 ) 2

7 7
(A)—2 B)— ©f (D)

<<"*i§t>>B

5. ( ) 2 fl x puh A 3 —m’x—2m= 0fv— 1 =" m ELEIRe S m pyffi = 7
A)—-1 B)—2 (©)—3 (D)—4

<<F5?3i’>>C

6. () MIlliFErkle—4)(x+3)=8 fuiE ?
(A4 B)—4 (©O)—3 (D)

<<"*i§t>>B

7.( ) =4 R P ke +-8=0 fiu— £ [l k= ?
(A6 B)—6 (O4 (D)—4

<<’F'f§t>>A

8. )g,xiﬁ BT > x° 4 6x+5 PUffA x— 1 fYfffEE?
(A2F5—3 (B)—25—3
(CO—2F3 (D2FY3

<<*'“i5t>> B

9. ( Faxb=0 > [ F[E R T 2
(A)a— EEH0  (B)b - Jﬁﬁf
(Ca=—1"%b=1 (D)a=0F b=0

<<*'“i5t>> D

10. ( EJZ'HJ?E 3 5xF2=2x" +5x+3 pUH Y
9y— HER _7\]‘,,75_7JIHIJ]£E[_HK‘ THEHGx+2)(x+ 1) =2x+3)(x+1)
IV IR EYRRGRFIF ST AP e 1) > B 3x+2=2x+3
9= HER: wy”}rﬁ [ﬂﬁﬂji’?ﬁj 2x+2 tH x=1
(A)_ R AT
B) FEH T F'% (93— ‘H—ﬁﬁﬂ%
(O FAERT (13 - (3 wﬁrmﬂpjg
(D) T F'% 2y = H—ﬁﬁf
<<*§i>> C
11. ( ) X =5x+6=(x+a)x+b) = a>b [la—b=7?
A7 B)S5 (©)2 D)l
<<*§i>> D
12. ( ) HEHF O +21x—8=0 Ryl 1T £ ) 2
Al B2 (€3 (DM



<<F$73a’>> C
13. () F —1hL X —ax=bfv— L[| b—a=?
(A1 (B)—1 (O)0 D)=t
<<’Féri;t’>> A
14. () (x— D2 —(—D)2x—4)=0F' I {77, J)|{p =2 ?
(A)(x—l)[x—l—2x—4]—0F RSl
(B)(x—1)(—x—3)=0
(O)—(x—DEx—3)=0
(D)(x—1)(1—2x+4)
<<F$73a’>> C
15. () 6x*+hkx+7=x—1)6x—7) » [l k= ?
’ (A)—1 (B)—13 (O)1 (D)13
<<F/$Tii’>> B
16. () F 2k A2 WHHA x(x—k)=6 - L [ k V{2
(A)l (B2 (C)3 (D)1 '
<<F$7ii’>> D
17.°C ) F x=05 =i = 27 —3x+a=0%1 » [lla=?
(A)l (B0 (C)—1 (D)2
<<’Féri;t’>> A
18. C ) —3x2—11x+4:0ﬁ‘ [~ AR Sl =t 2
(A)(—3x+1)(x—4)=0
(B)(—3x—4)(x+1)=0
(C)—(Bx—1D)(x+4)=0
(D)—(Bx+4)(x—1)=0
<<F$73a’>> C
19. ) =114~ B> ) AxB=0 > ™[ & i 2
(A)4=1"% B=—1 (B)A=25B=—2
» (C)4=0"= B=0  (D)4=05B=0
<<F/$Tii’>> D
20. C ) —2RLhYEi- WA A 2
(A)2x* +2x+2=0 (B)(x—2)*=0
» (O)x*+4=0 (D)(x+2)*=0
(B%) D
21 C ) AP ERL 8x7 =0 fiuip 2
» (A8 (B4 (C)—8 (D)
(B%) D
22. C ) ML D A ?
(A’ +3x+2 (B)2x+y—3=0
» (COx(x—3)=1 (D)2x*+5=2"+x+3
(F%) C
23. C ) MHIFHELGx+ 1) (x—5)=0 fiiE ?

1

(A7 5 (B)—%p? 5
1

(O35 (D)3

<<F$?ii’>> B
2. () X +ke+7=Qx—DGBx—7) > [ k= ?
(A)—8 (B)—17 (O)17 (D)8



(F%) B
25. () MR HE R o D —2)= 12 Ui 2
AL B2 (CO)—2 (D4
ERES
26. ( T 28 2% —dx+(a*+a—6)=0fv— L [ a= ?
(A2FY3  (BRFY—3
(O—25 3 (D)—2/—3
(F+) B
27. () F 2k AT R 2ax =9 fiu- [ [l a pUREETES %) 9
Ay B ©-F D)
ERES
28. () F 2 RLNA X 3x k=0 - AL [ k=2
(A)—1 (B)l (C)—2 (D)2
(F#)D
20. () F p I HA P30+ 1=0 09— £ p R HR ¥ —4x—5=0 U~ £ {lI(p°+3p+ 1)+
(F —A4r—S)uffits %) 2
A0 ®B)1 (©)8 (D)9
(2D A
30. C ) F 3 X Fmx+3=0 - AL [l m [fifh 2 ) 2
A)-—-3 B3 (©O)—-6 (D)—4
(F#) D
31, C ) NI AR e TR ?
(A)2x—1=8  (B)dx—3y=6x+1
(C)5x*+2—3x (D)—x*+2=0

<<F$Tii’>> D
32.C ) O L™ PR A g 2
(A)—2x*=0

(B)3x* +4x=0
(C)3x* —5x+2=x*—5x—2
(D)3(*—1)+5=—Tx+2
<<F$73a’>> C
33. ( F axb=0 E[J*EJF%% a~b Ex@@f{fjj@lﬁﬁﬁ N[ 9
(A)}df,‘a;éo [ b= EEL0
(B) f,‘aZOE\JJr b TR0
(CyaFIb > = PF— {FEFEL 0
(D)a ~ b ' I JHi4% 0
<<F$?ii’>> B
34.C ) =3 RL NP [ AEF VAL ?
(A)X*—3x=0 (B)3x*=0
(Ox*+3x=0 (D’ +3=0
<<F$73a’>> C
35.C ) BRHME NIRRT VR ?
(A)x2—§ =0 (B)2x+5=7x

(O)—x*+2x+1 (D’=4
<<F$7ii’>> D
36. () F—4 R P bk +8=0 10~ £ [l k= ?

3



(A6 (B)—6 (C)4 (D)—4
CFHD A
37. () #0.1x*+02x—0.3=0> HJx=?
(A)0.1FY—03 (B)0.3 F%—0.1
(O1 53 (D)3 fy—1
(FH C
38. ( ) = 7T RHAE 20 —Tax+3a=0> & a#0> Fx Y AR ?

(A)3aﬁ 1a (B)— 3aFl

. . 1
()3 F 5 (D)—3Fl —

<<Fi?ii’>> C
39. C ) NP T S HIEHEAORY AT ST ERY ?
(A)X*—10x—25=0  (B)—x*+10x+25=0
(C)—9x*+12x—4=0 (D)9’ —12x—4=0
<<*’fat>> C
40. ( ) Sx*=—5x» [l x UEREL(T 2
(ASHY—5 (B —1
(COF—1 (D)1

<<*§i>> C
41. ( ) |@?~ Fu T IR TR 3x2—|—px—|—9:0ﬁ: (“fitc—1)(x—3)=0> T p=2?
(A)—6 (B)—12 (©)6 (D)12
<<*§i>> B

42, ( Foafl 7+ 14x—21=0 pI7FL [ 3a® +6a—1= ?
(A)I0 (B)9 (C)8 (D)6

<<*‘*;;t>> C

43, ( ) 0L~ 5 ‘:*wﬁg uzx —3x+(a+1) 0 i~ 5L s B S FH |- ARG % 2
(A)—§ (B)_E (C)E (D)E

<<F$73a’>> C

44, C ) NI [EETRL x*+27x + 540 =700 [ ?
(A2 (B)3 (C)4 (D)5

<<*'“;;t>> D

45. ( ¥ a ¥ X’ =5(6x—45)iv— {li# > [l a= ?
(ASE—15 (B)-5F 15 (O)—15 (D)15

<<*'“;;t>> D

46. ( * 4x° 4 8x—5=(2x+a)2x+b) » [l ab= ?
(A4 (B)8 (O)—5 (D)5

<<*‘*;;t>> C

47. C ) NIl ﬁﬂﬂﬁﬂpmﬁji
(A)2x+1)(x—3)=0
(B)—2(2x+ 1)(x—3)=0
(C)2x*—5x+3=0
(D)2x*—5x—3=0

<<F$73a’>> C

48. () E [ =3x+2 | + [ F+4x—5] =0 [[x=2?
(A)1 (B (©)—1 (D)2

<<’Féri;t’>> A



49, ( P —2x=0" X’ +3x— k=0 - - (ARTRI S > B & =B Sl o8 2
(A)I0 (B)8 (C)6 (D)4

(FE A
5. C ) M AL X2+ 3) +a(x—2) =0 fivie ?
3 2 1 !
A= B)—3 O— D)—3
(F#) D

51. ( Ea bR —2x—4=0 FURREL s JIT I AR ?
(A)a®—2a—4=0 (B)b’—2b—4=0
(O’ +b*=2a+2b (D)a*—b*=2a—2b
{FHC
520 C ) NAIE LR Qo+ 1) — (0 4)° =0 o 7 T 2
R I Ll [
<C>?* o s 72 o) T PRt Ty
<<*‘*;;t>> C
53. ( ) a fLHFHZN 0xF — 4= OpJEJZﬁ Ey a>0 ;b pLA AR 25x2:16§g§#, b0 Hlatb=7?
A= B ©rs Dy
<<’Féri;t’>> A
54, () BEHAHFGx—8)—(Tx—12)’=0> # x=?
(A)8 5 12 (B)% 5 %
C©OF 1 (D)IFY2
<<*'“;;t>> D
55. ( )?m}i%% A3 x— 207 =0 ARl JIf 2m® —m—3 UL %) 9
A)—1 (B (©)1 (D)2
(F#) B
56. ( ) j‘r F%%EJQ*M%‘* 2x +3x+1=x —1 F[J‘H‘ﬁ IH:H I’I[E@EEJ ?ﬂ?
(A)[ﬂ“h TERHEQx+ D+ D)=+ Dx—1)
BNfF x+1H 2x+1=x—1
(OFEFIH 2x—x=—1—1
(D) [~ x=—2

<<*‘*;at>> B
57, ( ) B— Fu T AN (20— 5)(Bx— 5) = (2x—5)(5x—2) > Fﬁ%b‘” et R AL S (R
J;FE‘?

(A)Ej— AT 0= 1 V]
(B)F |~ F 1272 [
(C)F - i 2% 3 Vi
(D)2 E AT 0 At
<<V%§i>> C
58. ( ) X+ 8x+m=(x—4)(x+n) Pl m+2n=?
(A)—48 (B)—36 (C)—24 (D)—12
(FH C
59. () NP fHETRL x° -+ 27x+540="700 [ ?
(A2 (B)3 (O4 (D)5
(F#) D
60. ( F A+ 8x—21=(2x+a)(2x+b) > [l ab= ?
(A)14 (B)IS (C)—21 (D)I5
AR SAS



61. () 2 RLx U= 3% —mPx—2m=0 [y~ £L> 2 m EREIRE S m i 2
A)-1 B)—-2 (O-3 (D)4

AR SAS

62. () P [ 2+ 3=0 [l 1
AL B2 (O3 (D)4

(f#) B

63. () F 6 —19x+15=(ax+b)(ex+d) > £ a>c>0- [l ac+bd=?

A)15 (B)19 (O)21 (D)J‘}J—%"IE’IE

<<FAT3(>> C
64. () X 15x—S4=0 [l m - n o & m>n o ffl 0 AUMIEL(E 2
3 2
(A)—6 (B)—5 (O—3 (D)—%
<<FAT3(>> A

65. () MIIIFH R +2)(x—3)= —6 Ui ?
(A)—2f53 (B)—3552
O1f50 D10
<<F$73a’>> C
66. () F%xz—5x+4:(x+a)(x+b) » 2 a>bo [l 2a—b=7?

(A)—1 (B)—2 (O)I (D)2

(%) D
67. () 2 WHHH o’ +x+b=0 UL 2 FI—1 0 [l a—b=?
A-3 B—-2 (O—-1 D)
(A3 A

68. ( FkRLT R b —1=0 U= AL Jll(k—2)(k +3)(k—4)(k+ S)Y L 2
- (A)94 (B)95 (C)96 (D)99
%Y B
|
69. r( ) YN X —8x+a=(x+b) > Hla—b= %
. (A0 (B)8 (C)12 (D)20
%N D
|
70,1 C ) I A AL
(A)5x* +3x+4=4 B)(—x—4)(2x+3)=0
(C)x*—121=0 (D)2x*—9x+7=0
(%4) B
71. r( ) =4 3 ELHHH X+ ax+bh=0 FUREL EJ[J%#K(Z P bR LAR T RAU BT G 2
A- B ©O= D)
(%4) D
72. r( ) Eﬁﬁ|ﬂ§ﬁx2+x—2:0? X +3x—a=0 - i,'\fﬁjﬁjﬁ’ Hla=?
(A1 —2 (BRI
(O4F—2 (D24
(5% C
73. r( ) F 28— 1lx+O0=(x+a)(2x+b) - Ml 2a+b=?
(A)I1 (B)22 (C)—11 (D)—22

(F# €
74 C ) @a binT AR x(r—10)=24 UL ] a+b'=7?
(A)148 (B)I124 (C)104 (D)48
(A3 A

75. C ) F 3RLHAR ¥ — (@ +4) x+(Sa+ 1)=0 fiu— [ > [l a I {@issip 2

6



(A)1 Jﬁ% (B)3 ﬁ& 2 (02 ﬁ& I (D)1 ﬁ& 0

<<FAT#>>A

76. () = 7 NHHHF P fmx+n=0 fUREUE 3 HI—5 5 [ m+n=?
(A)—17 (B)—13 ()13 (D)17

<<€v§i>>B

1. ( ) =3 EE X’ —6x+a=0 v [ A AU AL G (g2
A)12 B)Y (©)6 (D)3

<<FAF§U>B

78. () Xtaxt14= 0 Pkl C-RER S ELETRE > [T Jfﬁ%aﬁﬁfilﬁ B
(A)a>0  (B)—2=a<0
(Ca=—9 (D)-8=a< 2

<<T'Vi§t>>c

70. ( )F%x +pxt+g=(x—a)x—>b) > ¥, p>0-~¢g<0> =
lal > b1 MIIIFEHTgE?
(A)a>0b>0 (B)a>0 - b<0
(C)a<0>b<0 (D)a<0b>0

<<T%§i>>D

80. ( )F%x +mx+n=+a)x+b) Fm<0~n>0 [ FERH T ?
(A)a>0>5>0 (B)a<0:b<0
(C)a<0>b>0 (D)a>0b<0

<<€v§i>>B

81. ( P pxtg=(x+a)x+b) Z a<b<0: P 30 e 2
(Ap>0 (B)g<0 (C)¢>0 (D)gp>0

<<T'Vi§t>>c

2./ ) Bt prtg=(aeth) ¥ p<0 0 >0 JIIFHT
(A)a>0>5>0 (B)a<0:b<0
(C)a>0>b<0 (D)a<0b>0

<<T%§i>>B

83. ( )%21x—15x 6=3(ax+b)(cx+d) > Hflta~b~c- dﬂtﬁﬁg\f 2 0<a<c Hab—cd
Z5
(A)17 B)19 (C)—12 (D)—15

<<T%§i>>D

84. ( )“fIJPyIP (i 4 AN 3%+ x—52=0 ¢ |AERIf A 2
(A)2x*+7x+6=0 (B)x*+2=3x
OGx—3)2=1  (D)Bx—5)(x+2)=42

(F#) D

85. ( Fx+D2x+3)—10=2(x—a)x—b) > {l[(a+1)(b+1)=?
(A)—5 (B)—2 (C)0 (D)0

<<FAT3¥>> A

86. () F LFHZ 3’ — k231 =0 [T LRV [ k= ?
(A)39 (BM3 (C)54 (D)63

<<T‘V3i>> C
87. ( ) a~b e By E -1 tax+2=0fY- 1> T a- biL_xz—Sx—l—c:OElfJthTfi’ Hl
at+b+c=7
(A)11 (B)I12 (C)13 (D)14
<<FAT3(>> A

88. () =IHI=35—11x+6x"=(ax+b)(ex+d) > = 0<a<c [P~ [WEET I ?
(Aya+b>c+d (Blatc>b+d
;



Ca+d>c—b (D)at+b>c—d

(f#) B

g9. ( “E'[xz—i—ax—l—b 0 F ) ffatigee - SYHIES X —2x= 48 fup i p 15 flla—b=?
(A)50 (B)49 (C)—49 (D)—50

<<T%§i>>B

90. ( )%39}6—18)6 21=3(ax+b)(cx+d) > EHflta~b~c~ dﬂtﬁﬁg\f 2 0<a<c Hab—cd
Z5
(A)17 (B)I9 (C)92 (D)—92

<<FAT§(>>D

0L () B F L3k’ —2x—r=0 B (x—a)x—b)=0 FlI ™ FlI#3t o HEHEL?
(A)x UL a H1b - (B)axb=r

(C)a* —2a=r (D)b*—2b=r

<<V'Vi§t>>B

92. ( )];,%12)6 —5x—3=(ax+b)(cx+d) > Eflta~b~c~ dﬂtui—iﬁg\f 2 0<a<c flad—bc=?
(A)—13 B3 (O=£13 DO)EFF TR

<<V'Vi§t>>A

: i—qg"'jfu

1. B HFHZ (2 — 10’ =0 > ' 1 x=
<<V%3i>> 5(%”@)

EJZ'HJ;E““ X —5x=245 ' x=
<<F'*§i>> 8 Hy—3

3, FEA A 3x° —7x—|—1—2x—|—13 i x=
<<*'*3Ji>> 4 75—
EJZ'HJ;E “8x +8x+2 0 fi'H x=

<<T%§i>> _2 (FEY
5. %'[x2*16x Hll x=
<<F‘t;t>> 05 16
6. FEH A (3x—9)(3x+9)=0 » x=
(?}jﬁ)} 35& 3
7. B P 4 10x+16=0 > il t x=
(?4()} —2H —8
8. X’ +8x+16=0 [i'#H x=
<<*'*;;t>> 4(;%1)
Ejzﬁﬁg =02y’ +7x+3 0> f'fHx=
(F%) - F‘&_z
10. 2x(e+ D =x+6 Uyt -
G 203
1. ZHRHEA 260 Fax—4b=0 Ui 32 —4» Hifiea=_ > b=
<<D;;t>> 256
12. F) a kLYY 4x® —6x—4=0 fiu- 'ﬁEJZﬁ M
40" —60a+4 [FIEH 27p 2 3 :
<<D;;t>> 44
b RL S+ 2x—xP =0 i [ B B —2h— 4=
<<*T;at>> 1
14. %, X*+3x—180=0 fURq UL p ~ ¢ » [ pxg= ?

8



’*AT: 0
<<#;T3§t’>> —180
15. EJ%—6x2—|—7x—|—5:0 T x=
i 1.5

<<FAT3¥’>> —Eﬁ&—
16. F{f{x— JJ‘ =il — 5% +4x+3 VL2 .

<<F§3§t>> LRy —=
17. % x2+(x+l) +(x+2)2:(x—|—3)2+(x—|—4)2 » Bl x=

<< E‘[i >> —2>
18. ¥, 8x> —22x—|—15 (ax+Db)(ex+d) > [ axbxexd=

<< Di ) 120

4;;* AT ax® — 1x+4=0 fiu— [l > Bt 00 - figEL

<<;rsat>> :

20. i x= [ RS S+ T —2 AT 4 -

() 2 2

21. E?x —13x—30=(x+a)(x+b) > = a>b> [ 2a+b=
<< [i>> _11
— 6

. Efﬁﬂ@ N

(F%) 8

23. % X+ 3x=ax+3x > PR AU,
<<D§i>> 0°a

24, %, (x—3)’+2(x—3)—15=0 > [l x fUfifi+%

<?31i>> —2°6

25. J ] 2o i :ﬁ’%%?“xz—l—ax—l—b:OE\ﬂJ"{[y[aﬁJHy'F HEAL 1> =20 #ifca+-b=?
<< [i>> —3

= “{‘ET

1SR H A (04 2) (04 1) = (0 +2)(3x+ 5[V -

Dé{ Y x= 2(§IT§L)

=2 pLHFHF (x— 1) + k(e +3) = —4 - [l o
(l)k FY e

Q) HAHAPUPI- AL o

€
2.



24) (Dk=—1 ()b~ FUT 1
Eﬁﬂﬁ F (43 +4(x+3)—5=0 Ui -

(ﬁlﬁt)x 85&)6——2
."“[;Dx——li_(x 2)*+ax—6=0 fiv— fL > oa pufife pl- flle

Di)}a 30 pl- AR 2
5. F1@x— 1) — (1) =45 > Fx =2

(ﬁlﬁt>>x 53
6:“"[ a(a—5)=14> E[“—F“I?Li‘” 9

10



<<?i>> 0553

7. ()F) x=2 fLx* —6x+8=0 i L > fHFHAFULL- L o

2)F a(x—2)x+1)+ta(x—2)=0 xl-

Di>>(1)x 4 (2x=-2
Fx— 4)(x—|—5)——8 "]‘

(i O if e

D (=3 x=—4 Q2 f%

e ST P A S

0. % 2T A=(x+a)(x—2) » TR B=x"+bx+2> J 4N 4=%

(l)a— ?0b=7

(%) %7fiz8 A=0 [l x [T E0 %) 2

<<’§ii’>> (Da=—1>b=—3 2x=155 x=2

Y o 4 3
10. i 7o 2 TR HF 12x2—1§x:1—0 o

11



: 1, 1
(AR x=4f ¢
5

- 1z ~ LN = 1 ~ I -t 1, 7 =
11 =AY ax® + bx—5=0 FYRELT xzzﬁ& Xx=—> Sk a=p ]'Elﬁ B2 ?

(F#) a=4- b=38

12



